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QUESTION 1

The BSA of an AP covers the area used by the sales and marketing department. Thirty-five stations operate in this
space. The users indicate that they need more throughput and all stations are 5 GHz capable 802.11ac clients. The
current AP configuration uses 20 MHz channels in both 2.4 GHz and 5 GHz. What is the least expensive solution
available for increasing throughput for these users without implementing configuration options that are not
recommended?

A. Use a 160 MHz channel on the 5 GHz radio

B. Use a 40 MHz channel on the 5 GHz radio

C. Install a second AP in the coverage area

D. Use a 40 MHz channel on the 2.4 GHz radio

Correct Answer: C

QUESTION 2

What security method is commonly used for VoIP handsets when the infrastructure does not support OKC or FT
roaming?

A. WPA2-Enterprise with EAP-TTLS
B. WPA2-Enterprise with EAP-TLS
C. WPA2-Enterprise with PEAP

D. WPA2 -Personal

Correct Answer: B

QUESTION 3

A natural disaster has occurred in a remote area that is approximately 40 miles from the response team headquarters.
The response team must setup a local wireless network using 802.11 WLAN access points. What is the best method, of
those listed, for implementation of a network backhaul for communications across the Internet in this scenario?

A. Temporary wired cable

B. 802.11 bridging

C. Cellular/LTE

D. Temporary wired DSL

Correct Answer: C
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QUESTION 4

You are evaluating access points for use in the 5GHz frequency band. What PHY supports this band and supports 80
MHz channels?

A. OFDM

B. HT

C. VHT

D. ERP

Correct Answer: C

Reference https://www.cwnp.com/802-11ac-vht-just-the-facts/

QUESTION 5

Return Loss is the decrease of forward energy in a system when some of the power is being reflected back toward the
transmitter.

What will cause high return loss in an RF transmission system, including the radio, cables, connectors and antenna?
A. The use of cables longer than one meter in the RF system

B. High output power at the transmitter and use of a low-gain antenna

C. A Voltage Standing Wave Ratio (VSWR) of 1:1

D. An impedance mismatch between components in the RF system

Correct Answer: D
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